Phép cdng 2 chir s6 (Cong 3 s0)

Tén:

98
74
+73

67
11
+63

74
44
+56

63
43
+71

76
40
+78

Enida

40
70
+97

61
60
+52

36
/74
+16

96
29
+838

14
17
+92

35
13
+47

60
26
+32

76
92
+46

30
68
+06

33
52
+19
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Ngay thang:

65
21
+14

68
58
+78

54
88
+86

11
87
+56

22
57
+65

Piém:

65
21
+63

91
99
+41

62
52
+46

22
80
+33

18
29
+85
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Phép cdng 2 chir s6 (Cong 3 sO)

TYTY

Tén: Ngay thang: Piém:____
98 40 35 65 65
74 /0 13 21 21

+73 +97 +47 +14 +63
245 207 95 100 149
67/ 61 60 68 91
11 60 26 58 99
+63  +52  +32  +78  +41
141 173 118 204 231
74 36 /76 54 62
44 74 92 38 52
+56 +16 +46 +86 +46
174 176 214 228 160
63 96 30 11 22
43 29 63 37 30
+71 +388 +66 +56 +33
177 213 214 154 135
76 14 33 22 18
40 17 52 57 29
78 492 #19 465 485

194 123 104 144 132
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